LI 7.8 INSTALLATION MANUAL

2024 JEEPGLADIATOR JT
FRONTIER SERIESINNER FENDERS

Model: ATTJT01G102-BX
Material: E-Coated Steel
Package Dimensions: | 38.58" x 20.87" x 11.41"
Product Weight: 29.04 Ibs

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 -
TECH@ATTICA4X4.COM A I I I c A x
626-369-2121 \ -~
WWW.ATTICA4X4.COM TRUCK & JEEP"ACCESSORIES



LI 7.8 INSTALLATION MANUAL

A WARNING

This product is designed primarily to enhance the appearance of the vehicle. Do not
rely on any component of this product for protection against injury or death in the
event of an accident. To reduce the risk of serious injury or property damage, please
read all safety warnings and carefully review all instructions and procedural notices

before attempting to install or use this product.

A CAUTION

> Properly torque and recheck fasteners and security of step tread after 250
miles and inspect frequently. Do not use if damaged.

Allen wrench Ratchet
Flathead Screwdriver Wrench Drill
Safety Glasses Panel Remover
Rivet Nut Installation Tool
@0 2/“@ (not included)

13942 VALLEY BLUD, CITY OF INDUSTRY, CA 1746 "
TECH@ATTICA4X4.COM AT T I c A !
626-369-2121 \ oy

TRUCK & JEEP"ACCESSORIES

WWW.ATTICA4X4.COM



LI 7.8 INSTALLATION MANUAL

Parts Information

NO. Parts Name Size Line Graph Qty
/ Front Liner / 2
/ Front Liner / & 2
/ Front Liner / 2
/ Rear Liner / g 2
/ Rear Liner / {@ 2
/ Rear Liner / @ 2
RO1 Rivet Nuts 'M6 ﬁ 6
BO7 Allen Bolts 'M6*20-8.8 (; T 43
NO9 Hex [lange M6 S 43
W13 Flat Washer 'p6*18 41
W09 Spring Washer '©6 @ 41
B15 Allen Bolts 'M8+*20-8.8 ¢ 6
2

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 (=]
TECH@ATTICA4X4.COM AT T l CA !
626-369-2121 \ ™

TRUCK & JEEP"ACCESSORIES

WWW.ATTICA4X4.COM



AL =78 INSTALLATION MANUAL

W19 Flat Washer 'P8*24*2mm 6

W16 Spring Washer 'p8 @ 6

BO5 Allen Bolts 'M6*10-8.8 ) 30

*Note: One pack of spare parts is provided.

Installation Instructions

Step 1: Please open the box and check that all components are included.

Step 2: Remove the original fender flares and fender liner, and prepare the parts
needed to install the new fender liner.

Step 3: Install the front fender flares.

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 [ =]
TECH@ATTICA4X4.COM AT T l c A !
\ ]

626-369-2121
WWW.ATTICA4X4.COM TRUCK & JEEP"ACCESSORIES



AL =78 INSTALLATION MANUAL

+% Front fender liner assembling.

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 -y
TECH@ATTICA4X4.COM A I I I c A x
626-369-2121 \ -
WWW.ATTICA4X4.COM TRUCK & JEEP"ACCESSORIES



AL =78 INSTALLATION MANUAL

i

Rivet nuts

% For an easier install, plastic push clips can be used (not included).

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 -
TECH@ATTICA4X4.COM A I I l c A x
626-369-2121 \ -
WWW.ATTICAAX4.COM TRUCK & JEEP"ACCESSORIES




L ATTICA:

TRUCK & JEEP°ACCESSORIES

Step 4: Rear fender liner assembling.

INSTALLATION MANUAL

0] )
gxl @11

<«

@@_ @

'M6*10x14 '‘M6x14

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746
TECH@ATTICA4X4.COM

626-369-2121
WWW.ATTICA4X4.COM

% Use the shortest bolts.

— [ o S L
\b\) ° ° VV o
N \}’\) N ° v >

NN Vv v
\) °° g§\ o v v
= . _ v
6

ATTICA:

TRUCK & JEEP"ACCESSORIES

/] B



LI 7.8 INSTALLATION MANUAL

Step 5: Rear fender liner install.

@ @ ® @
O S &

‘M6*20x10 '6x10 '6x10

% Step 1 Rivet nuts ".
Rivet nutszﬁ/%c et nuts

Use OEM hardware

13942 VALLEY BLVD, CITY OF INDUSTRY, CA 91746 [
TECH@ATTICA4X4.COM A I I l CA)(
626-369-2121 \ |

TRUCK & JEEP"ACCESSORIES

WWW.ATTICA4X4.COM



